


Ref# Part#

© 00 N O Ol A W DN -

B W W W W W W W W W W NN MNDNDNDNDDNDNDNDNDNDDNNDNE P REPRP R PP PP
O O©W 0 N O o B W NP O OW 0o ~NO O b WNPFP OONO O WOWDN P+ O

NSP
NSP

192664GS TRANSFER SWITCH, 200A, w/Hndle

193664GS
195000GS
196353GS
196094GS

192065GS

192696GS
B4857GS
192151GS
198136GS
196355GS
B5106GS
B5107GS
196521GS
192558GS
190992GS
190984GS
B4986GS
192597GS
193450GS
193307GS

192879GS

192881GS

193159GS

NSP
192150GS

Description
ASSY, Enclosure
BACK PANEL

PPHMS, #10 - 32 x 1/2"
PPHMS, #6 - 32 x 1/4"
PPHMS, #6 - 32 x 1/2"
PPHMS, #6 - 32 x 3/8"
INSULATION, Dead Front
CONTROL,Board
SPACER, Nylon #6 - 32
GROUND LUG
WASHER, Lock 1/4"
BREAKER Circuit, 200A
NUT, 1/4" - 20
TERMINAL,Neutral
FUSE
FUSE HOLDER
DECAL, B & S Logo
DECAL, CT Warning
DECAL, Connection, Utility
DECAL, Connection, Gnrtr
DECAL, 200A,ATS
DECAL, Suit as Srv Equipment
DECAL, Warning Shock
DECAL, Fuse
DECAL, Ground
DECAL, Sensing, Utility
DECAL, Breaker, Circuit
DECAL, Load
WASHER, Flat, #10
WASHER, Ext.Tooth, #10
INSULATION, Circuit Breaker
PPHMS, 1/4-20x 3/4"
BUS BAR
LOCKWASHER,#10
PPHMS, #10 - 32 x 1/4"
DECAL, Reinstall Barrier
DECAL, UL Llsted
SPACER

Context Note

(Purchase locally)
(Purchase locally)
(Purchase locally)
(Purchase locally)

(Purchase locally)

(Purchase locally)

(Purchase locally)
(Purchase locally)

(Purchase locally)
(Purchase locally)

Foot Note



Ref# Part#

41
42
43
44
45

197198GS
197294GS
197355GS

198615GS
195728GS

Description
DECAL,Wire Circuits
DECAL,Contacts Rating
CLIP, Latching Wire
PPHMS#10 - 32 x 3/4"
DECAL, Intelligen Logo
CURRENT TRANSFORMER

Context Note

(Purchase locally)

Not Hlustrated

Foot Note



